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1 ]2025-01-02 17:39:08 otelHAEEEE SOt R FA X HH((CHHA HJAZE 5) 4 44,200 | QAIEIIE Jl2
2 [2025-01-02 17:49:01 CEctdg= H=at8 O280] AL S E8A] 3tHe - 270,000 | AIEJIE Al ZH
3 [2025-01-03 18:53:07 TE= ot AR FA XA AH(ESH) 8 157,000 | AIEJIE J|2
4 [2025-01-06 12:52:19 SALEEH AT ot AR FA X A (s3HH) 19 416,000 | AIEJIE J|2
5 [2025-01-06 18:28:42 gotel 24 Ngd o =J|2 2tg3s| Hx(s8) 12 303,000 | AIEIIE Al
6 ]2025-01-07 12:19:01 =20t o MO =X XY AHPH(HAHS) 33 456,000 | AIZJIE J|2
7 12025-01-09 12:33:48 SF=0lHIAE ot AR =X XA HH(S01H) 22 345,000 | AIZIIE J|2
8 1]2025-01-10 12:30:01 A==20= SOt AP =& MY AA(YMH) 20 470,000 | AIZJIE J|2
9 |2025-01-13 12:37:27 SHAMREY ot g =X AP AH(AFH) 20 476,000 | AIZIIE Jl2
10 [2025-01-14 12:22:01 2t Ngd o =J|2 2rg3s| JHx(23]) 15 224,000 | AIEIIE Al ZH
11 12025-01-14 12:36:59 == JHH ANAgd o =J|2 2rg3s| HE/(238]) 15 79,500 | &SI Al ZH
12 12025-01-17 19:58:43 Ste= NAgd o =12 21638 HE(2HA =) 8 144,000 | &IEIIE Al ZH
13 ]2025-01-20 12:26:45 ==} ot A FA XA AH(DIEA) 15 363,000 | &IS3HE ol
14 [2025-01-20 19:02:29 LEASHE ot A =X X HAH(HIMA) 5 11,000 | &IEJE J|2
15 [2025-01-21 9:45:29 g2 T EEE S4E FY(RT) 13 650,000 | AIZJIE Al ZH
16 [2025-01-21 12:28:36 o2y ot A FA X HAH(HMSAIHA) 10 158,000 | AIZIIE J|2
17 [2025-01-21 16:01:09 =1=pIpN; ot R =X X A(ALn 2 SH) 13 88,800 | AIZJIE J|2
18 12025-01-21 16:16:19 HH RS2 EXZ! SOt AR =X XY AH(ALEN 2 SH) 13 118,500 | &IEIIE |2
19 12025-01-21 19:37:59 2= NAgd o =2 2rg 38| HE(A2H) 29 450,000 | AIEIIE Al ZH
20 12025-01-23 13:34:34 FYAB A S A 2025 & HE AEXNF SYHIRA AHS 117 4,095,000 | AIEIE &
21 12025-01-23 14:34:53 S22 HIdsxe 20259 4 HE |2 JA2RN AAS(RHM2) 37 1,110,000 | AIEIE Al ZH
22 12025-01-23 21:16:43 SE3 NEgd o =2 2tg3s| MHE(H=3l) 15 350,000 | AIZIIE Al ZH
23 |2025-01-24 12:37:40 sz ot R FA X HAH (IR ZHA) 10 194,000 | AIZIIE J|2
24 12025-01-24 19:06:16 Tcg= ot R FA X A (KoM} 8 155,000 | AIZIIE J|2
25 12025-01-31 12:36:22 w2 ot AR =X X HH(ELHM) 15 283,950 | AIZIIE J|2
26 |2025-01-31 - A8 42X IXAMU TGE E22A3 XN=(01+7] 2/1) 2 100,000 | AHIZEOIH |2




